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* txzux | NS | EW | 223 | NS | EW | #1 [ #11 [ #1 [#11] #1 [#11]] Mean NS EW
1 N [None| 2NE3 150 3NE-2 100 250 6 EW200 2 -7
2 E | NS 4SS4 620 4S5S4 620 NS580 1 -1
3 S | EW 5DE-1 100 6DW-2 200 100 3 NS70 1 -4
4 | W |Both 4HE-1 100 4HE-1 100 EW40 4 -4
5 N | NS 4CN4 130 3NS-1 100 230 6 NS220 -3 8
6 E | EW 4SN5 450 4S5S4 420 30 1 NS450 1
7 S |[Both 5CW-1 100 4CW-1 100 NS200 -3 3
8 | W |None| 2DS4 130 2DS2 90 40 1 NS110 1 1
9 N | EW 3NS5 460 3DN6 170 290 7 NS230 6 2
10 | E |Both 4HXE-1 200 4HE4 620 820 13 EW140 8 10
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e
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[ 2mxz» [ Ns [EW | 53 | NS [ EW | #2 | #13 | #2 [#13] #2 [#13|| Mean | NS | EW
1 | N |None] 3NW3 400 1HE3 140 260 6 EW200 | -5 -2
2 | E|NS 4SN-1 100 4ss4 620 720 12 NS580 | -12 -1
3|S|EW 3DE4 130 5DE-1 100 230 6 NS70 | 5 -1
4 | W (Both|  4HE-1 100 4HE-1 100 EW40 | 4 -4
5| N|Ns 3CN4 130 3CN4 130 NS220 | -3 3
6 | E|EW 4ss6 480 4SN5 450 30 1 NS450 | 1
7 | S |Both| 3NE-4 400 3NW-2 | 200 200 5 NS200 | 5
8 | W [None|  2HS3 140 3Ds-2 100 | 240 6 NS110 | 1 5
9 | N|EW| 6DN-2 100 3NS4 430 530 1 NS230 | -8 -5
10 | E |Both|  3HW3 140 4HW-1 100 240 6 EW140 -6
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[ 2923% | NS [ EW | 25z2% | NS | EW | #3 | #6 | #3 | #6 | #3 | #6 || Mean | Ns EW
1 N |None| 1HE3 140 3NE3 400 260 6 EW200 2 5
2 E | NS 4SN4 620 4SS4 620 NS580 1 -1
3 S | EW 4DE4 130 3NW-4 400 530 1 NS70 -5 -8
4 | W |Both 4HE4 620 4HW-1 100 720 12 EW40 -11 -4
5 N | NS 4CN4 130 4CN4 130 NS220 -3 3
6 E | EW 4SN5 450 4SS4 420 30 1 NS450 1
7 S |Both 3NE-5 500 3NE-3 300 200 5 NS200 7 -3
8 | W [None 1NS4 180 2CE-1 50 130 4 NS110 2 2
9 N | EW 5DN-1 50 3NS4 430 480 10 NS230 -7 -5
10 | E |Both 4HW-1 100 4HE4 620 720 12 EW140 6 10
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" 2mzzs | NS |EW | 2922% | NS | EW | #5 | #8 | #5] #8 | #5 | #8 || Mean | Ns | EW
1 N [None| 3NE3 400 3SW3 140 260 6 EW200 -5 -2
2 E | NS 5HXW-4 800 4SS4 620 180 5 NS580 6 -1
3 S | EW 5DE5 600 3NW-1 100 700 12 NS70 -12 -1
4 | W |Both 4HE-1 100 4HE-2 200 100 3 EW40 4 -6
5 N | NS 3NS5 660 3NS6 690 30 1 NS220 10 -10
6 E | EW 4SN4 420 4SS5 450 30 1 NS450 -1
7 S |[Both 5CW-2 200 3NE-4 400 200 5 NS200 -5
8 | W |None| 2HS2 110 2SS3 140 30 1 NS110 -1
9 N | EW 3NN4 430 5DN-1 50 480 10 NS230 5 7
10 | E |Both 4HE-1 100 3CS-1 100 200 5 EW140 6 -1
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1 N [None| 25wW4 170 2CS-2 100 70 2 EW200 1 -3
2 E | NS 4SS4 620 4SS4 620 NS580 1 -1
3| S |EW 5DE-1 100 3NW-4 400 300 7 NS70 1 -8
4 | W |Both 4HE4 620 4HE-1 100 720 12 EW40 -11 -4
5| N | NS 5CN-1 100 3HE-3 150 250 6 NS220 -8 2
6 | E| EW 4SS5 450 5SN5 450 NS450
7 | S |Both 5CW-1 100 4HXN-2 500 600 12 NS200 -3 12
8 | W |None 1SS3 140 1NXE-1 100 40 1 NS110 1
9 N | EW 2CXE-1 200 3NS6 490 290 7 NS230 -1 -6
10 | E |Both 4HXE-1 200 4HE4 620 820 13 EW140 8 10
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Y[ 2nzms | NS [ EW | 2925% | NS | EW | #9 | #12 | #9 [#12] #9 [#12|| Mean | Ns EW
1| N |None]  3NE3 400 2NE3 150 250 6 EW200 | -5 2
2| E|Ns 4ss4 620 4ss4 620 NS580 | 1 4
3| s |EwW 2SN-2 100 1NW-1 100 200 5 NS70 | -5 -
4 | W |Both|  4HE-1 100 4HE-1 100 EW40 | 4 4
5| N| NS 4CN5 150 3NS4 630 480 10 NS220 | -2 9
6| E|EW 4SS5 450 4SS6 480 30 1 NS450 -
7 | S |Both| 3NE-6 600 3NW-5 500 100 3 NS200 | 9 7
8 | W |[None]  2HS3 140 2HS3 140 NS110 | 1 4
9 | N |EW 5DN-1 50 5DN-1 50 NS230 | -7 7
10 | E |Both| 4SE-2 200 4HW-1 100 100 3 EW140 | 8 6
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1 N |None| 3NW3 400 3NE-1 50 450 10 EW200 -5 -6
2 E | NS 4SN4 620 4SS4 620 NS580 1 -1
3 S | EW 3NW-4 400 3HW-1 100 300 7 NS70 8 -1
4 | W |Both 4HE4 620 4HE-1 100 720 12 EW40 -11 -4
5 N | NS 3HE-3 150 4HE-4 200 50 2 NS220 -2 1
6 E | EW 4SN6 480 4SS6 480 NS450 1 -1
7 S |Both 3Cw3 110 5CW-1 100 210 5 NS200 -7 3
8 | W [None 3HN3 140 1883 140 NS110 1 -1
9 N | EW 3NS5 460 3NS6 490 30 1 NS230 6 -6
10 | E |Both 3CXN-3 800 3HW4 170 630 12 EW140 -12 1
#®3t IMP| 7 |42 20 | 15
g Ah
25 4 % 14 Catchall
+ B INP 7 42
&3 IMP 7 42 s
VP 1.42 18.58
b




2 e + jd!‘- 2
10| 14 FF 2 RBERF Hle | 10 o
"
NS v i3 &££@3(F0C) 1 1 T bl 1 1 NS %% sx5&(R0)
EW %37 $%35 3 (R0) a e EW 4= #25(FO0
B# | oL | 2w MEZ g ik REAA | COP Datum
¥ tyze% | NS | EW | c2yzs% [ NS | EW | #11 [ #1 [#11] #1 [#11] #1 Mean | NS EW
1 N [None| 3NE-2 100 2NE3 150 250 6 EW200 7 -2
2 E | NS 4SS4 620 4S5S4 620 NS580 1 -1
3 S | EW 6DW-2 200 5DE-1 100 100 3 NS70 4 -1
4 | W |Both 4HE-1 100 4HE-1 100 EW40 4 -4
5 N | NS 3NS-1 100 4CN4 130 230 6 NS220 -8 3
6 E | EW 4S5S4 420 4SN5 450 30 1 NS450 -1
7 S |[Both 4CW-1 100 5CW-1 100 NS200 -3 3
8 | W |None| 2DS2 90 2DS4 130 40 1 NS110 -1 -1
9 N | EW 3DN6 170 3NS5 460 290 7 NS230 -2 -6
10 | E |Both 4HE4 620 4HXE-1 200 820 13 EW140 -10 -8
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25232 [ Ns [ EW | 25z2x | Ns | EW | #13 | #2 [#13] #2 |#13] #2 || Mean | Ns | EW
1 | N |Nonel 1HE3 140 3NW3 400 | 260 6 EW200 | 2 5
2| E|Ns 4sS4 620 4SN-1 100 | 720 12 NS580 | 1 12
3|s|Ew| 5DE-1 100 3DE4 130 | 230 6 NS70 | 1 5
4 | W |Both|  4HE-1 100 4HE-1 100 EW40 | 4 4
5| N|Ns 3CN4 130 3CN4 130 NS220 | -3 3
6 | E|EW|[ 4sNs 450 4sS6 480 30 1 NS450 -
7 | s |Both| 3Nw-2 | 200 3NE-4 | 400 200 5 NS200 -5
8 | W |None|  3Ds-2 100 2HS3 140 240 6 NS110 | 5 -
9 | N |EW|[ 3ns4 430 6DN-2 100 | 530 11 NS230 | 5 8
10 | E [Both| 4HW-1 | 100 3HW3 140 | 240 6 EW140 | 6
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* tyze% | NS | EW | 2¥z23% | NS | EW | #6 | #3 | #6 | #3 | #6 | #3 || Mean | Ns EW
1 N |None| 3NE3 400 1HE3 140 260 6 EW200 -5 -2
2 E | NS 4SS4 620 4SN4 620 NS580 1 -1
3 S | EW 3NW-4 400 4DE4 130 530 1 NS70 8 5
4 | W |Both 4HW-1 100 4HE4 620 720 12 EW40 4 1
5 N | NS 4CN4 130 4CN4 130 NS220 -3 3
6 E | EW 4SS4 420 4SN5 450 30 1 NS450 -1
7 S |Both 3NE-3 300 3NE-5 500 200 5 NS200 3 -7
8 | W [None 2CE-1 50 1NS4 180 130 4 NS110 -2 -2
9 N | EW 3NS4 430 5DN-1 50 480 10 NS230 5 7
10 | E |Both 4HE4 620 4HW-1 100 720 12 EW140 -10 -6
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* tyz2% | NS | EW | 24223 | NS | EW | #8 | #5 |#8 | #5|#8|#5 || Mean | NS EW
1 N |None| 3SW3 140 3NE3 400 260 6 EW200 2 5
2 E NS 4SS4 620 5HXW-4 800 180 5 NS580 1 -6
3 S | EW 3NW-1 100 5DE5 600 700 12 NS70 1 12
4 W |Both 4HE-2 200 4HE-1 100 100 3 EW40 6 -4
5 N NS 3NS6 690 3NS5 660 30 1 NS220 10 -10
6 E | EW 4SS5 450 4SN4 420 30 1 NS450 1
7 S [Both 3NE-4 400 5CW-2 200 200 5 NS200 5
8 W |None| 2SS3 140 2HS2 110 30 1 NS110 1
9 N | EW 5DN-1 50 3NN4 430 480 10 NS230 -7 -5
10 | E |Both 3CS-1 100 4HE-1 100 200 5 EW140 1 -6
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* txzex | NS | EW | 5223 | NS | EW | #10 | #7 [#10] #7 |[#10] #7 Mean NS EW
1 N |None| 2CS-2 100 2SW4 170 70 2 EW200 3 -1
2 E | NS 4SS4 620 4SS4 620 NS580 1 -1
3 S | EW 3NW-4 400 5DE-1 100 300 7 NS70 8 -1
4 | W |Both 4HE-1 100 4HE4 620 720 12 EW40 4 1
5 N | NS 3HE-3 150 5CN-1 100 250 6 NS220 -2 8
6 E | EW 5SN5 450 4SS5 450 NS450
7 S |Both 4HXN-2 500 5CW-1 100 600 12 NS200 -12 3
8 | W [None 1NXE-1 100 1883 140 40 1 NS110 -1
9 N | EW 3NS6 490 2CXE-1 200 290 7 NS230 6 1
10 | E |Both 4HE4 620 4HXE-1 200 820 13 EW140 -10 -8
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L tyze% | NS | EW | c23zu3% [ NS | EW | #12 | #9 [#12] #9 [#12] #9 || Mean | Ns EW
1 N |None| 2NE3 150 3NE3 400 | 250 6 EW200 2 5
2 | E| NS 4S84 620 4S5S4 620 NS580 1 -1
3| S |EW 1NW-1 100 2SN-2 100 | 200 5 NS70 1 5
4 | W |Both 4HE-1 100 4HE-1 100 EW40 4 -4
5| N| NS 3NS4 630 4CN5 150 480 10 NS220 9 2
6 | E | EW 4SS6 480 4SS5 450 30 1 NS450 1
7 | S |Both 3NW-5 500 3NE-6 600 100 3 NS200 7 -9
8 | W |None| 2HS3 140 2HS3 140 NS110 1 -1
9 N | EW 5DN-1 50 5DN-1 50 NS230 -7 7
10 | E |Both 4HW-1 100 4SE-2 200 100 3 EW140 6 -8
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Y[ 2mzzs | NS | EW | 2922% | NS | EW | #14 | #4 [#14] #4 [ma] #4 || Mean | Ns | EW
1 | N |None] 3NE-1 50 3NW3 400 | 450 10 EW200 | 6 5
2| E| NS 4sS4 620 4SN4 620 NS580 | 1 v
3| s |eEw| 3HWA 100 3NW-4 400 300 7 NS70 1 -8
4 | W |Both| 4HE-1 100 4HE4 620 | 720 12 EW40 | 4 1
5| N|Ns 4HE-4 200 3HE-3 150 50 2 NS220 | -1 2
6 | E|EW 45S6 480 4SN6 480 NS450 | 1 v
7 | s |Both| sCW-1 100 3CW3 110 | 210 5 NS200 | -3 7
8 | W |None] 1ss3 140 3HN3 140 NS110 | 1 v
9 | N|EW 3NS6 490 3NS5 460 30 1 NS230 | 6 -6
10 | E |Both| 3HW4 170 3CXN-3 800 | 630 12 EW140 | -1 12
w3 IMP|42 | 7 15 | 20
24 44
BE 14 Catchall 4 %
* B IMP 42 7
&3 INP 42 7 s
# 3-VP 18.58 1.42
b A




